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1. BGOSR SN B B B 0, B0 EFE RIS R A S R (1004 3R
—fF (mL) 4 500~1000: 1 FyELA] (X 500 540 B A DI TmL 771 —D, 7 75 Ik A 4 ] Bt i
(UK, ThEE 20% B 200W, 7 3s, [AIRE 10s, EE 30 K); 8000g 4°CH.L» 10min, HL ik, EHiK EfF
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1. 66T 30min, FHZEM8/K T 340nm Abif 2,

2. B 920uL TAEWAI 100uL BEARSE ImL AFELham, 84, SCEIHC 340nm 4k 20s FIWG{E A1 1 80s
BHROEME A2, 5 AA=A2-Al.

ZEHEE A SEITH:
FruE gt RO BTN y = 1640x + 0.012; x ARG, y AAREFRE (nmol/mL).
FEE: AW SRR 1.6nmol/mL.
(D B ERETHE
ZBR4HEE A 7 (nmol/mg prot)=[(1640xAA+0.012) xV1]+(V1xCpr)=(1640xAA+0.012) +Cpr
R FINNE, EUEH AR BCA &AM & & IE 5 &
(2) WA R
LB A EE(mmol/g £ 5)=[(1640xAA+0.012) xV1]+(WxV1+V2)=(1640xAA+0.012) ~W
(3) MR R B0 B
LB A 2B (nmol/10%)=[(1640xAA+0.012)xV1]+(500xV 1+V2)=(1640xAA +0.012)+500
V1: MARBAERPEEARER, 0.1mL; V2: JIANIRBGAEAFR, 1mL; Cpr: FEAREFIKE, mg/mL;
W: FEARE, g5 500: ZUARSgnE S5, 500 J5.



